MODEL QUESTION

Geography
(Class XI)

: Full Marks 70
Multiple choice questions :-

1. “apNel” ere@ @ wter fsAer fB=m 2 Who coined the term geography ?
(A) 3¥eizereitor  Erastiiosthenese (B) 313=g Aristotle
(C)=gar Strabo (D) Sferatt Ptolemy

2. SeEe 98 ReafaRaa & J Ha = usEr simen F Roa »
On which of the following hill range is the ‘Dodabeta’ peak situated ?
(A) SteraTts Nilgiri (B) Seirsdl werél Cardamom hill

(C) 3TeeTTHETTS  Anaimalai hills (D) sieetmaas  Nallamala hills
3. foafeiRaa & e N &t Soft sma & o s & 9

Which one of the following rivers has the largest river basin in India ?

(A) RAgg The Indus (B)atem The ganga
(CO)srgxags The Brahmagputra (D) @gsom The Krishna

4. gl @ 3Iauta A Adra sardw ulRwouen o utdues e
e ?

Who presented the tidal hypothesis regarding the origin of the earth ?

(AT SizA St Sir James Jeans  (B) AT Laplace
(C)@wre Immanuel Kant (D) SBIeT Jeffreys

5. UYedl & his UT Phiel o & ueref giu oy ¥ 9
Which two elements are present in the core of earth ?
(A) feifser @erm afar Nickel and Copper
(B) @fam e &rar Copper and Iron
(C)Tefeser aermr arar Nickel and Iron
(D) #AY&T d&aT geiT ueer? Iron and limestone

6. feeericiRaa 3 ¥ Hra—wr emer g & @A ovsr 22
Which one of the following is the coldest place in India ?

(A)gra  Dras (B) ugctoria Pahalgam
(C) sfietore  Srinagar (D) gerarst  Gulmarg

7. uURRIE dgoner par fager grr ufdufea feem orm 2
Who introduced regional geography ?

(A)@wTet RBeew Karl Ritier (B) TarsteT—2Y -air—=atrer  Vidal-de-1a-Blache
(C)3gar strabo (D) 313 Aristotle
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14.

forrataRaa ame=nae & e J1 g BT ATSd ATRNIET & ?

Which one of the following Longitudes is the standard meridian for India ?

(A)69° 30" gd 69°30'East (B)82° 30" gd 8230 East
(C)90° 30’ gd 90°30° East (D) 75° 30" gd 75"30 East
reataRaa 3 JF drea-W sf-3nepla &1 foraior &1dr @ 3ruzes e
GIRT 8T & ?

Vhich of the follo ing land form is associated with erosion of the river ?

(A) st Gorge T (B) 2cer Delta

(C)STelie U Alluvial fan  (D)@g @1 Harer Flood plain

a1 BT FAANYD UB 3T IUSI3H UBR Hlel AT & P

Which one of the following is the most widespread and most productive category of

soil ?
(A)STelte T Alluvial Soil (B) @wreit et Black Soil
(C)smer FaT Red Soil (D) eiezrse Laterite Soil

RreafeiRag & A P71 Iad Sar FEHPR 2 2

Which one of the following is the smallest ocean ?

(A) 3TTBTeas HABTHAOIR Arctic Ocean (B) werid HerATR Pacific Ocean
(C) 3teatitess FHarAIR Atlantic Ocean

(D) f&se #HarAmo1” Indian Ocean

a1 Js # olibarss siter Rera 2 2 In which states is Loktak Lake ?
(A) BT Kerela (B) 3@2rRvs  Uttarakhand
(C)#T®TYT Manipur (D) ZreT=ermer Rajasthan

feeafaRaa & ¥ e A A pf A 3ma aeh efere TerForeh
fepot A w=relt 2 2

Which of the following gas protects us from harmful ultra violet rays of sun ?
(A)eTsgister  Nitrogen (B) 3Nsiter Ozone

(C) 3ffaRitsTeT Oxygen (D) wrafer—aTs3iTaATss  Carbon dioxide
fereaiaRaa & JF P SaadAvser & AT &2

Which one of the following is included in biosphere ?

(A)@asT arer Only plants (B)@act wroft Only animals
(C)J3ft Sia 3fR awora Sha All living and non-living organisms
(D) =it siifaa sfa All living organisms.
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HRT B b Iow & are 3ifees 3ndt 2 2

Which of the following state of India experiences floods frequently ?

(A) feraTe Bihar (B) 3r3HA Assam

(C)uo womeT W. Bengal (D) 3@zucer Uttar Pradesh

feraeiieiRaa 3 & Tpar uaet & f@aueh srerar FosRoft war swar
27

Which of the following winds is called “Snow eater” ?

(A)Zerer HIR Land breeze  (B)aL. Loo

(C)wrer Fohn (D) =g Chinook

HRA A AT s auf &t - Heaviest rainfall in India:

(A) ATgsit Cherapunji (B) HATRTe=TA Mawsynram

(C) ufsasft =me Western ghat (D) ®RIFAseT de Coromon dal Coast

CPromavdal

dereieT Ut 3R ugfier ReefaRaa & A Rew 329w & ferw wEw
W B?

For which of the following objective, National parks and wildlife sanctuary are
established ?

(A) FelZSTel Entertainment  (B) Uteief, sfiaY @ f&T@ For Domestic Animals
(C)f9repr & Tt For hunting (D) =d=etor @ f&rw For conservation
fereafeiRaa 3 ¥ Pre—am sra &1 usRN o1 ot T o

Which of the following is not a neighbouring country of India ?

(A) SToeTraer Bangladesh (B) emg&vs  Thailand

(C) utfdsearer Pakistan (D) 3rwseTiferzaTel  Afghanisthan
feesiaRaa 3 3 Pa AT BoRaH WhersT 2 2

Which one of the following is the hardest mineral ?

(A) &RT Diamond (B) &A1= Basalt

(C)retrse Granite (D) @aest Quariz

SaRHTEel B orAter B fde Pre-ur @@ 3T @t ¥

Which of the following force is not responsible for the formation of Tides ?

(A) gedl @51 o[mearasyor o1ferd Gravitational force of earth
(B) Teg T bl I[mearabuior offdkT  Gravitational force of Moon

(C) 3 @t Imearapsior orfdr  Gravitational force of Sun
(D) SI3iTTe=r e1ferd Coriolis force | (}] @
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Rfreiurer Shiasvser forar foeafaRaad & X b oo & RBeg 27

In which one of the following states is the Simlipal Biosphere reserve situated ?

(A) farge Bihar

(B) &m==s1vg  Jharkhand

(C) &eiAate Chathisgarh (D) 3T Odisha

oreafaRaa ube & aedl # A ITHT A JAGH ol

-4

Which one of the following is the highest cloud in the Sky ?

(A)agirer Cirrus
(C)=a Stratus

(B)asf d= Nimbus
(D) @wuraAt Cumulus

8ehad p3T TP I UTpiaes 31TueT ® ?
Under which type of natural hazards do earthquake come ?
(A) argasei=  Atmospheric (B) SlfdHp Terrestrial

(C)STefl=  Aquatic

(D) Sita#set= Biological

el hiad AT

YelTucelT T JHUTARd 3I & — Metamorphosed form of limestone :

(A) JoTHZHT Marble

(C) ¥g31Tucerz  Sandstone

foreaifetiRaa 31 A drer AT 3rcTfties J@T uaATfaa & & 2

(B)3ic Slate
(D) IS Gypsum

Which of the following is the extreme drought affected area ?

(A)IISRTd b1 b Kutch region of Gujarat
(B) erstzeIrel @1 yalt #TeT Eastern part of Rajasthan
(C) 3Rractt a5t usisaf Aravali hills

(D) 3TTeeT URQT BT 37Tdf3es #1oT Interior part of Andhra Pradesh

u ote HAEREr & wrei A G ez o B

Which river is shown in the given outline Map of Indian.

(A)arom Ganga
(B) @gsomm  Krishna
(C)stdfer Narmada
(D) RFegg Indus

CreaaiRaa & J wal uv @ar ger /@ Jax a1 aar 2 7
Which of the following has longest Day & night ?

(A)@pes 3T Tropic of Cancer (B) #e¥ ¥am Tropic of Capricorn

(C©yga Pole

(D) iryaa 3==m Equator

7 ®
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HRT & WAT FEs H QU o1 #Amserer ot usarer aSifsio—-
On the given outline Map of India. Which desert is shown

(A)J8RT Sahara 5

(B) 3TeraBTAT Atacama ”» QW
%

(Cyarme Thar §

(D) 3=l Gobi \//&

TAH A BleT AT @b HeT orATor o1 s e & 2

Which of the following soil formation factor is biological ?

(A)3fcT uerel Parent Material (B) Zeretiebfar Landform

(C) asr=afa Vegetation (D) e @Y 3rafer; 3rerar I Duration/Time
PUTH B P B U FaHF e Iugerd FJeT BT A R P

Which one of the following soil is most suitable for cotton ?

(A)GTette T3 Alluvial soil (B) wreft 1318 Black soil
(C)Tieerse THE Laterite soil (D) dteFsr fHET Peaty Soil
feeetieiRaa 3 ¥ Pler urepfaes anuar =8t 2 2

Which of the following is not a natural disaster ?

(A) 3ygp#a  Earthquake (B) F&maT Tsunami

(C) yz=aater  Landslide (D) =Ty T&=wmie Nuclear explosion
feraaifeiRaa 3 & Brar N A sgvscher auer & fow sawerh 2 2
Which of the following gas is responsible for global warming ? ,

(A) 3fTerATGTeT Oxygen (B) wrder-srgarerarss  Carbon-dioxide

(C) airsgisist Nitrogen (D) 8Tsgioiel Hydrogen
%Umamﬁwﬁaﬁazﬁaﬁﬁa%ﬁém—é% ?

Which mountain peak is shown an the given outline Map of India ?

(A)B-2 K2 _
s
(B) srsr@er Dodabeta S /gﬁ
s
(C)#T3ve warze Mount Everest K\)/
(D) #Fgee 311 Mahendra giri 0

“FETEINT favenuer |’ @1 ufduersr feear e 2
Who presented the “Continental Drift” theory ?
(A) 312z &&= Arthur Holmes  (B) Jora12 Wegener

(C) #=RaTeT Morgan (D) gco1s Bullard (}] @
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